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1. Which of the following statements is/are correct?

1. The Ministry of Health and Family Welfare formulated the Ayushman Bharat Digital Mission
with the aim to provide the necessary support for the integration of digital health infrastructure in
the country.

2. Healthcare Professionals Registry (HPR) is a comprehensive repository of all healthcare
professionals involved in delivery of healthcare services across both modern and traditional
systems of medicine.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

2. Which of the following statements is/are correct?

1. The Finance Minister announced the Production Linked Incentive (PLI) Schemes across 13 key
sectors.

2. The PLI scheme will provide an immense boost to domestic manufacturing, and prepare the
industry for making a big impact in global markets in sync with the spirit of Atma Nirbhar
Bharat.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

3. Which of the following statements is/are correct?
1. InFinancial year 2022, the Ministry of Coal was the biggest contributor to the asset monetisation
pipeline.
2. The pipeline has been developed by NITI Aayog, in consultation with infrastructure line
ministries.

Select the correct answer using the code given below:
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(@) Lonly

(b) 2 only

(c) Both1and 2
(d) Neither 1 nor 2

Which of the following statements is/are correct?

1. Global Wind Report for 2022 was published by the Global Wind Energy Council (GWEC).

2. Onshore wind energy refers to turbines that are located on land and use wind to generate
electricity.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct?

1. The 2+2 Dialogue is a format of meeting of the foreign and defence ministers of India and its
allies on strategic and security issues.

2. India-US defence cooperation is based on “New Framework for India US Defence Cooperation”,
which was renewed for a period of ten years in 2015.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct?

1. The Eighth Schedule to the Constitution of India lists the official languages of the Republic of
India.

2. 6th schedule provides for the administration of tribal areas in Assam, Meghalaya, Tripura and
Mizoram to safeguard the rights of the tribal population in these states.

Select the correct answer using the code given below:

(@) Lonly

(b) 2 only

(c) Both1and 2
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(d) Neither 1 nor 2

The Reserve Bank of India (RBI) is said to undertake Open Market Operation as one of the tools of
monetary policy. Which of the following statements is/are correct with respect to the Open Market
Operation (OMO) ?

1. Itis used to manage liquidity in the medium term.

2. ltis used to manage the yields of the government securities.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

‘Operation Twist’ is a term recently seen in the news. It is related to which of the following?
(a) Open market operation by the Reserve Bank of India (RBI).

(b) Strategy to tackle Non-Banking Financial Company (NBFC) crisis.

(c) Disinvestment in the Central Public Sector Enterprises.

(d) Step to boost the middle-income housing infrastructure

Which of the following statements is/are correct?

1. ADR refers to the methods of resolving a dispute, which are alternatives for litigation in Courts.

2. Camps of Lok Adalat were initially started in Gujarat in 1982 and now they have been extended
to all over India.

Select the correct answer using the code given below:

(@) 1only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements is/are correct?

1. The year 2022 marks the 100th birthday of Nobel Prize-winning chemist Har Gobind Khorana.

2. His studies were concerned primarily with the structure and function of rhodopsin, a light-
sensitive protein found in the retina of the vertebrate eye.

Select the correct answer using the code given below:

(@) L only
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(b) 2 only
(c) Both1and 2
(d) Neither 1 nor 2
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